CET 12*" Level (2nd Shift) Answer Key Dated : 04.02.2023

1.

10.

1.

“eny gigen' gaf-ua 49-

(A) e e aReur . (B) @iu SReor d

(C)fasE enfa & (D) amg S=eoT § [D]
iy ) o wwen & g | goww= @@ 2011 A
&= A FE g7

(A) 8 @ & (B) 2447 &m

(C)27ai=ww (D)12aT®m [A]
& uepa gten 8-

(A) Temar | (B) @ ¥ H

(C) wnfimaiz & (D) =ndi & [c]

HES & I Fd fFad Aqa d s gom o
?

(A) . . 7=
(C) oft. T9. TR
101 &1 9%+ 8-

(B) &t. w=. fasn
(D) wa Z. gifear [D]

(A) 1050501 (B) 1020201

(€) 1030301 (D) 1040401 [c]

1857 & T@awal d9umH | Fer #grTa £ ggraar &

R fve oow 3 @ gergan Aol ?

e (o) B (A
U A

ﬁmﬁﬁaﬂﬂmmm%wﬁw

g:

(A) sffT ad (B) et

(C) frmfther (D) FER [B]

ofe, g Fragig g &1 Jraad 16 i awn Farg 12
t 1 36 HTUR T A B-

(A) . (B)4 .

(C) 2 #t. (D) 1 . [B]
TR & e & I P & 8 g e
ST 21 UE o UehH & ZRT S e 22

(A) fe= (B) sifadtemenr

(C) =g (D) arfersiimor [A]

STehieTe e #tes hen & wraf-94 87

(A) TE=fomr (B)H'IZ?ﬁ'l

(C) ws (D) d=man [A]

Mmtﬁamm e 3 @ pfafee ars
FA IV v 00 & W SE oph

T@T AT qhel 2~

(A) a1 &t srEaa araae. (B) Sae
(C) sraaw (D) &7 aw [B]
fastresultalert.in

12.

13.

14.

15.

16.

17.

18,

19.

geu Fvaar snufiE &y &1 ga9) a1 duged a1

I @ 8-

(A) T E (B) e &

(C) wreitamm (D) sar=it 7 [A]
Choose the most appropriate technical
translation of the following word:

Circular

(A) Atfes (B) uftu=

(C) gz (D) ufeemar [B]

& 1R ) st 1 w0 g it ifte o= farggadd
#) ST 85 gOIR 8, 99 9 H W 8-

(A) 0.085 (B) 0.85
(C) 85 (D) 85 [D]
A ETee fFeg fad = agin

(A) &75S A 5e & faig
(B) af ¢ wited & forg
(C) @ 9 @A & faw
(D) fra o e wite & g [D]
uf¥ g= gz wrar d CREW =t 96 foran wman & awn
COURT &t 154 feran wmar 8, &t 3« wmar & CRATE

=i g wer P smem ?

(A) 98 (B) 47

(C) 90 (D) 94 [*]
frae sveio Mfee 7 wRa &1 wuw a5«
nize Affafes ard # Rrenfla farar smerm

(A) == (B) ipsiara

(C) Ffes (D) aftremrg D]

IoTEUTH Wleh @ W@ & onget 41 "o @t
:ﬁmﬂmﬁﬂq&ﬁmﬁ;mmmm
?

(A) T3 S gwT (B) Trsaure ZI1

(C) Trgdid grer (D) faer= w71 gRI [c]

WA &Y SHET HUIe # ‘I o I T 872

(A) vz o == & fog smafea fafne gma

(B) v &t IR iR &t st 72 & diw & w9 w=

HE ehe ! SigHld o 97X lg fAud S8Td 6|

(C) 3 & Wy Sa WS Hie) GHIE glal ¢ |

(D) et fadoess o ==l & & O & e sFu=IRE

ol & [ safea Twg [B]

@9 g vt F gqe, WiEw 7 ansege age | gft

@< T4 &, 98 HUTTe! Shgene! &-

(A) Froareas (B) 3itua

(C) Tt (D) weenifaa [A]

Fefaf@e § & a9 &1 Jomge de o o

oifds & Fgaad ?

(A) v Gores (= goreH)

(B) Shyg wretsT

(C) utefmdsr

(D) srsgicia [A]

ToTeUT & Wi JumH oA &1 S A1 Frd @

&

(A) =0 & ooft adofs & & Suwat & g o=

UFA i od aEity g -t dar &

(B) ey # FAsht gumwl &t fRan-F &

(C) it Irewfes &1 & IuEHT & il &l ATRET &

(D) Tr=g & fafy= Iumst i Frdvue & 9=y FE
[c]
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a.

2‘.

31.

32,

TOTEUT & OUN ST 9. 37. frafaf@a F @ fve @ F sgea draroft e
(A) gu. &, et (B) amd. &, gan witaror sraresft Praforrdis &7
(C) &g, A=A (D) ¥.uw. fag, [B] (A) TR (B) R
sraerg g wgl e &2 (C) g (D) ¥z [D]
(A) orerer (B) aromz 38, A aur B & mifere o F 4:3 & arqura #) ST A |
(€) wreiR (D) wirde 3mq D] weltes ¢600 aran §1 afX g9 Zro fsd md ey &
‘o & g e - aaTa 3 : 2 @, At B & mifdves g ghft -
(A) wamng i aigare & dia (A) ¥3,600 (B) ¥2,400
(B) aferaTeT ok g & dra (C) 2,000 (D) ¥1,800 [D]
(C) atwarar ok e & e 39, award wren Rvees v aearey (ataare) § o g,
(D) frftemrg SR warwrg & da [A] I e off s & off S e §7
fr=faf@m sar doft & soren sar &Y &1 A (A) et "rar (B) mroreasft
wifge? (C) wgraTeft (D) frger g (0]
K.1J, M LN, H,0,G, P.I;I 40, g e aRg g ER W
Eg; : {B) Al (A) aemet (B) sfedt
(C) wasmems (D) e [D]

““‘;‘lhﬂ“"“‘m“ﬁ‘m'*“m 41, 1857 & Ry & wwa ol awor @ Re T
(A) 60 &t (B) 30 @0 (wweeer) % wrewy &1 2
(C) 50 @ (D)504 = yadsh (8] (AvRemidt (0] dwife

. : (C) wnufdie (D) wwrsfafiie (€]
B grae &1 JeargA @l J & wh ®) 42, o& @fes 010 & 11 99 $ o @ O3 whgw § auwr 5
&n & fAg Rear man e 11 & 10 o= &) 2 g @y afaera F
(A) AreifRr B) Rt Y,
(c)ﬂzrﬁ:rq P et [c]
gt it R v . [A]
azed & fag : ound

favan wan 8, ummh
(A) wrrer=
Lo IR “
(1) weaer g &
(111) =i & [p]
(A) (1) afte (111) STEUT
(C) (1), (11) i (H1) :
mmm R - K
W T =
= ol sdmir o
#gag ok o A o md s (B) weRTe]
(A) 2-C T ATEZo 0 U c) (D) #m udfa (8]
(B) 2-C wr siferfrory =1 apvrey 47, Choose the correct antonym of the following
(€) 3-C ur siferfrors & aufeafa word from the options given below:
(D) 3-C UR ATIZI &1 U (B] Encourage
ﬁﬂﬂﬂ!’h-ﬂl”ﬂﬂmt ? (A} persuade (B) aid
(A) ST (B) fareieft (C) discourage (D) incite [€]
(C) stz {D)mﬂm [A] 48. urwwEyw d ‘g1’ & amm @ wY-\n wven owan 27
lmqvlh‘llrreﬁm tnmrﬁnpﬂﬂm (A) weee o wirgn
ofvere wan 7 (B) e
(A) 10 (B)7 (C) wegranm anegen &gy & e
(€)8 (D)9 [D] (D) Iega = (€]
aropes srvwor & agen o @- 49,  wrow gt o & orer a2
(©) o (D) (el o g ol g
FReTen damvaet o das w87 50 ﬁ?m (D) wove aret (o]
(A]T“TE’B‘IE {B)m N Og::l"‘,ﬁ,“lmt
(C) mq! (D) weifarg T [A] (A) 27 (B) v3

(C)3 (D)9 (8]
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51.

52.

53.

55.

56.

57.

58.

59.

60.

61.

62.

63.

%)

Choose the correct option.

Tenders should be written in a language that
is -

(A) brief and to the point

(B) roundabout a lengthy

(C) informal

(D) stylish [A]
16 |+t 7 12 |+ yonadl aret Rt e & afa: o
g1 wffan mar 81 g o7 &% T 872

(A) 192 mt &+t 2 (B) 967 m @t 2

(C) 100 r At 2 (D) 152 r &t 2 [c]
ToreyT | e Rifese Sadt wgl fua @2

(A) SR (B) sfterarst

(C) seagR (EEN [D]
e (Remainder) I &3 & AT ow va vame
H T A1 v wam F & 7

(A) FACT() (B) DIV( )

(C) MOD( ) (D) INT( ) [c]

far= F | &= a1 ToreuT v sgvisha R 22

(A) 23° 30" feror g 30° 12" gfeor

(B) 23°03' ITR Ud 30° 12' I«

(C) 23°03' I Td 30° 12" Zfayor

(D) 23° 30" IR U 30° 21" IR [B]
16 FgwR, 2022 &t geq, &34 e TEeta 3 =
sivrra smdEa fafY RgfReneg & srurfarer wgf
w?

(A) e & (B) sreiae &

(C) SitergR & (D) &% | [p]

‘'quaTaS WEAH §-

(A) IE (B) St

(C)ea (D) = [A]

ASTEYT YN 2ATTh TIT=1 a1 FHTT=a SR @ -

(A) =ftres uftar $i Fefhal @ afeemd

(B) ®éEHT GXuTgs

(C) enry fadkar

(D) mfgen s [A]

;r_:}z:: & freerreltT HiTciaeh Sl il Horar-1 el
.

(A) &R (B) Trammt

(C) aRw (D) wiTert [c]

frafaf@e § @ =19 a1 wa &1 auy Bt 8w g

i ke &7

(A) droagert- sft (B) Hioagerdt- gaege

(C) famia - Tg (D) forrm - 7w [D]

oo sEfHe W aA wedar g -

(A) Li, C 3R CO; (B) Liz0 3R CO:

(C) LiD 3R CO; (D) Li 3R CO; [B]

' ATTEHES e & T v S arami @
(A) 3fTeire=TT & g (B)RARTS

(C) A% P arer (D) grursR # e g4 aren [B]
gheras snlEfRa gs........ 31 @)

(A) Swadha (B) =wfcrfaa

(C) arfa=ady (D) Sftarfras [B]
‘HTEt dae SR TR vaer e wae ) e &2
(A) == (B) st

(C) =r (D) werpt [D]

Translate the following sentence into Hindi:

66.

67.

68.

69.

70.

71

72,

73.

74,

75.

76.

77.

Women learn English faster than men.
(A) gl =i Afgene & uger sish e =@1fgg)
(B) gow 3fiwa & we fioft Hivad &1

(C) siedl gowt & warer sedl sl Hradt &

(D) iR it gut & Herraet STeal it ERa-T 9fey|
(€]

&M & HOR AR (F99) ) 99 & &2 (W\)

wHEeret -

(A) e e (B)als ¥

(C)fRe¥ (D) ¥ €]

from Zrr adhe wenrer & RAataur & weery & 1 @

I Hftreaw fefea gl &2

(A) wrer (B) &=t

(C) = (D) & [B]

?mﬁﬁ! # & &t @ s g e | urd St

(i) st (ii) d=mge

(iii) Trtemde (iv) STee

(A) (i) @ (iv) (B) (i) & (ii)

(C) (ii) = (i) (D) (iii) 7 (iv) [c]

fRamgw zrr 2@ ok g=gEem Wiy, &t gueEy

& # AT §HG ST g

(A) W T (cycle). o (B) @erwdte

(C) ites Tt (D) varis erzn [D]

i Aa-gftem 2022 afaaifar d fefafea d a

= it vl B R 9T @17

(A) == JRaTaq (B) =faemt e

(C) anfarch &= (D) Rt gt [A]

TSt & W ML 8?

(A) ATaET (B) Fr

(C) wicmma (D) gevar [D]

Ao o & _smEer afed ZR ferft mh

dhepdlell Tendt ot st ST 2-

(A) = (B) 3R

(C) arrd (D) i (B]

Choose the correct altérnative which can be
substituted for the given sentence:

The period of life in which a person is old and
weak

(A) Superannuation  (B) Dotage

(C) Impecility (D) Senility [B]
afte s @ran g1 arey F fowan g-

(A) ey forar (B) arerdn faman

(C) wremvier ferar (D) uderrferer (€]

YT & FR-ATX HehTel G & o1 a1 &HRoT 7
(A) safia auf
(B) ==t & e
(C) i =1 sifeeeryol Iugh
(D) 1 1 e [A]
o & Sierfa gL R &1 SR v R
T 87
(A) 150 (B) 100
(C) 120 (D) 130 [B]
wa & fBew vow F 684 g 2y ate () T
Haifaa s 62

(B) afdeTg

(A) 3rm=sr weer
(C) a== (D) st [c]
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78.

81.

Choose the correct preposition. 89. wuw 2 wwem agfaat & dw o PAfffa sy §)
He took ages.......the job. o waeu & anur W @ Je iR @ waw
e B | et rews e
C) above D) beneath B e, ~
urd, 2022 # orft anfRmgTy A FTER AR FTdEE SRR ha— Wi
& g o wdu & & =y & aqu #h ag ;
W ... et ) @ ol/\lo oll 2 .
(A)30d (B)314 Ty
(C)334 (D) 29 & (c] N (n ain:  .avy
Toreur # ¢ mid g Ao A g’ @ Answer Figures / o swgfrat
nfirlmr;? ' —F .
(A) 18 e, 2022 A [ ] iy Q
(B) 15 ared, 2022 ) gl “(?) ‘
(C) 9 R, 2022 =t AT
%mﬁiﬁ ......... # o 7 o © ﬁ hoan, | -‘
(A) mrad (B) dregs [c]
(C) =erenTan (D) &=ré D] 90. Ctrl + Y &1 waiw fasay wwen #7
wrae aRatern fo sl ) dgea sRateen @, 2 & (A) sfs Rrar & & g
(A}mmmﬂtﬂiﬂ)m*!ﬁwﬂﬂ (8) AT gemEA A & g
(C) Toreurs sk dorm (D) TR MR oA [A) (C) = zxamd &) 42 & & fAy
mﬂhﬁi-ﬁimm = ufeg &7 (D) sifem fomar it fidiz &g &t & forg D]
(A) Reeng 9. P=iffadd R w s (o) § wesrfava
wrdta e & (0]
R u =7
v = geifirs &z @ ¢ (8]
f = wentiaves &z A
(A)f=v+
’ o 1)
(€L 1t i o
T u v . ;I;ﬁoﬂ'!
ﬂﬂmtﬂm
:m mfh! : (0]
“ ‘ “ I . @
tA)ﬂaﬂHDﬂ (B) 13 2R @or
(C) ez 257 (D) =8z 213 (A (C) Hul (D) famy [c]
g Reer afteds Rasa & Ba o @ | 96 5 mz d "wreares d@m &2
’ %gzﬂm {g)]g:m [A]
(A) avevre (B) A3 97. Prfafa feel § @ R e ARAw W iR
(C) arars (D) @R (8] fvea smaTes daer et 2022 & wavon man?
VLOOKUP traers &rd aeen #7 :n:zmmm {B]]Grm'l; =
(A) 7l R e @@ Rt e & C) FamEa D) Fveg D
() o e A e 8 98. Wiﬂﬁmwpmqﬂﬂut?
(C) @ wez gaar @ s V' @ (B) o1 - ZRumah
(D) &t #vw = yew T & g 2wmar (8] (C) amgygw - Tazorst
wra & gun e ofs R%w = (CDS) ww& (D) @srur - TR [A]
AR Ta @ ot B T @ wenfya | 99 1 ¥R @ R afder 200 feh @2
(A) 200% (B) 0.2%
Rvan mar? (C) 2% (D) 20% (0]
(A) gz fasgwor (B) uwelik wm 100. @Y= ez Oz &7
(C) awr wwor (D) = o [A] (A) siterd (B) Qurad
(C) =i (D) T (o]
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101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

1M1

s dadt smafa g | wfedres oreiss 27

2 50
E. w P
Dy b
el 20
f% 10
z 0 ————
10 20 30 40 50 60
Marks / 9rais —
(A) 60 (B) 25
(c) 35 (D) 45 [*]
e wegp o e ety aeg =i 87
(A) fafR - wemrar (B) @u - Hfh
(C) g - @rug (D) anfe, - oy [D]
SUBORDINATE &1 fg=& aiRwnftres areg 27
(A) wETIS (B) aftes soft
(C) srefey (D) fata [c]

gqe & aweye # afted= fivad g glar &2

(A) 39z - angeye g (B) ARdwE

(C) g.ut.gs. (D) #i.dtg [p]
150 ., Fht vz & o | & Fat =1 sEaEa Ho
60° AW 30° g1t Fnw g am ok ad A &
Rraéa e d &2

(A) 200 . (B)so 3.

(€) 100/35. (D) 20043 . [c]
oy & fre afdwe ofeer § Rffofiew qovs
RafAdiwToh deu &I #UTa=T &) AT ?

(A) 5.0w.07. Afeerer Sfeton T

(B) g4, Afdawet wiete, Sg?

(C) 7u.qa.qw. Afae sie, STaqR

(D) &, #i g, wien (]
af% oa fryer 7 & afef | vagm yonod @ 3@ @
wra |uT g, @ e 8

(A) Rw=ag (B) F=antoT

(C) wwag (D) [D]
fsa =1 wad = oAt ¥ e TR
Faa d?

(A) FgTg (B) fm

(C) faiy (D) merer& (A)

HFUTH 4 : 5 & Ueldes 0% & Sl @ st ey
arfes ag SruTa 5 : 6 & areR g wg?

(A) 4 (B)1

(€)2 (D)3 (8]
Go throught the following poem and answer
the question given below.

O Rose thou art sick,

The invisible worm,

That flies in the night

In the howling storm:

Has found out thy bed

Of crimson joy:

And his dark secret love

Does thy life destroy.

What does the worm symbolize here?

(A) Death and decay (B) Secret love

(C) Life and beauty (D) Howling storm [A]
arftor A8 Resm mflaso (w21) & o & @2
(A) et # ferereft-guersy &

(B) it =1 fawrar

12

113.

114.

115.

116.

117.

118.

1=

120.

121.

122.

123.

124.

(C) MR- &t =1 R

(D) favem wwari & faeera [€]

= & & @ ofawafe=e =g =@ 87

(A) straeeng &g (B) TS 2t =g

(C) = =g (D) w2y, [A]

Qe JETEOT §-

(A) st srfafeRar &1

(B) fareura= sififerar &1

(C) fz-Rremag= sifafmar &1

(D) fardter srfafera = [€]

J772641 1 A &-

(A) 889 (B) 879

(C) 871 (D) 891 [B]

darz uormvae & vurgEn frad srumerar F 1938 o
?

(A) aerera g Agar (B) s amf

(C) ez ureHt (D) STHATEATE aaTrat [A]

P dasFmoamam=#?

(A) = (B) 2%

(C) g (D) e [B]

fr=faf@a F | F=-Raren & @50 sjaer 87

(A) fedt w2 msft (B) d gwmrat

(C) diemyr (D) HEMRE [A)

Fill in the blank with the correct option.
The teacher taught us that the earth .............
round,

(A) are (B)is
(C) were (D) was [B]
&¥ & o Feaverd} &, @tend oftam gid 87
(A) 713 g7afda (B) 1 wTcHS
(C) um HoneTen (D) ym Ferdia [€]
Ty & fhaa el J o ey fAra =fm
w7 & o @ 2
(A) 12 (B) 6
{clfi}m I (D) 10 [€]
- fEur guug gaan

) F=né Wit zemmE 0 PR gl
(B) et oft FarE R
(C) R 9
(D) gEi o fameft Fard [€]

Any kind of letter generally ends with:

(A) Heading (B) Salutation
(C) Signature (D) Subscription [€]
niar # smaifore ond. qw.ow. od. (wRefla

forem TwRig) 2022 4 @ ad = wdla fvew
=afehea aifte fran mar?

(A) w=ite arerdd (B) 8a1 arfeh

(C) it (D) v st [€]
Choose the correct indirect form of the given
sentence from the options given below:

She said “"We were thinking of selling the
house but we have decide not to™

(A) She said that they think of selling the house
but had decided not to.

(B) She said that they have been thinking of
selling the house but had decided not to.

(C) She said that they had been thinking of
selling the house but had decided not to.

(D) She said that they thought of selling the
house but decided not to. [€]
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125. :1: orefta wiftesh o, searemar @ i e .

(A) m&r (B) wremmar

(C) e (D) =g [B]
126. Erer+h, areg & fee v @ ore g 82

(A) w& (B) o1z

(C) ot (D) weet [c]
127. wfemr m“ i:ﬂml;m 7 9= oy

gREngeor W!lm o= gdi?

(A) mftzare wuw (B) o=t

(C) wmwE (D) ffez witw (8]
128. Fy' smaa= ) deaen §7

(A) demtofta (B) Rrmivfrr Zf¥frd

(c) wf RfRda (D) srethadia €]
129, .cciennen. O T W IR Y sfmen o arqaTy WA

& g wfvan R, A= seoger ow wd @) & @Ay

It w7

(A) WA (wawama) (B) Foveem Rwmga

(C) forew freetwor (gnfafde)

(D) & [D]
130. wmnﬂltqﬁmﬁﬂ 1 geht @ ol )

ﬂm\lﬂﬂwmuﬁl\

(A) 75

(C)as { [c]
131, Choose the correct for the passive

construction.

132.

133.

134,

138.

136.

Everyone calls him -

(A) Everyone is called ake

(B) A peacemaker d.

(C) He is called to on e
(D) He is called a e
wa#unm h

\@”@'@’"
4 o IR R G

(A) gea =marerg o Jeras samaTey §
(B) &t Iea =maTera |

(C) s e =marerg #

(D) #aet Feeam =ararera §

(A) 24
(c) 20

[A]
n & fvm wm & @AY (x+a), (x"+a") &1 & UHECE

gm?

(A) n & Bae fm o= & fRrg
(B) n & woft =it & fAg

(C) n & et arvTo =T & forg
(D) n & dae & =T & forg

(A]

e ez A wara-wad syl 87

(A) SrgRT (B) i

(C) =emenfoy (D) diffrr [D]
fr=ifea & | e sRe TRy & geETg H
fPuffa & & fag g = §?

(A) auf &1 wor= Rawor (B) amaw=

(C) &gz @ 5@t (D) wraféra g (A

148.

150.

137.

138.

139.

140.

141.

149,

Fill in the blank with appropriate determiner
from the options given below:

................ Pen will do.
(A) Enough (B) Many
(C) Any (D) Much €]
afy w,g=Eﬁ tan & = 7
() __b (B) Yo' -a"
b -a' a
(c) ¥b'-a’ (D) __a (8]
b W
WIRA & H=afver & orwgran R | omen &7
(A) 1, dar arRaEd (B) =Y, gt oratefiz s
(C) =Y. frer T (D) #1. ghR omge Few
(<]
:;;wﬂ a weuail & fag adfta Fafas & s
(A) wnfees areht affy (B) &. wurw famfa
(C) oraites Agan wfafa (D) sh.dft.d. vaaffa  [*)

o dfen F S andf ok @ srsdi § aur o ardf sk
A wradi §1 o @ amgw F g vure aRaffa s A R
at areey g ot @ ravegdf g omen &1 W W wuT
ardi silv | @ ghm?
(A) 13 df
(C) 11 df

2ETE $l B G

[A]
[c]
wewa
[B]
D (A]
ad & fraht gevem dsd arfard &7
(A) 5 (B) 2
(€)3 (D)4 [B]
. & 14 ad & Rl camm gz o ol g oeat &1 S5
ft. & g@t @ wrw 4 gz aren §) Ramdt EER LR

e § gd 7@ @@ & & A & S gudn s

g3m?

(A) g2 gfe 2w, Feae da  (B) Fane gfe @iw, sraaa dw
(C) gfe 2w, mm{mm&m saad da [B)
wgeftam & wwa gumm @iorn o W g @A aven
e &?

(A) BUIR U G g

(B) @a @1 I giRT

(C) HmT & O @Al

(D) arex | aTge U gHEAT €]
Troreur & favw O o fdew iR F et feaa &7
t.!x}ﬁg{z (B) #etar

() (D) @ter (B]
=y sz &1 W wiv-fAredy &2

(A) 35 + quoT (B) 31 + quoT

(C) 3 + oy (D) 3 + gwor D]




